Y 7  AdRgabdrblatt [T PR

zu Potenzen mit gleicher Basis

LOosungen
Level 2 - Fortgeschritten - Blatt 2
LOosung Al
a) 5k+k+2 — 52k+2 b) 0 52k—1+3x+1 =0 55k
@)  3BnHL2n+2n+3 _ 38n+6 f)  qlterek—4+2 _ g7k
g) xlOa h) 72k—1+5+k+k — 74k+4
) 2KHI-L¥BI-24k+3 _ p2k+al K)  x3K+2LHSK—4+31-2 _ ,Bk+51-6
Losung A2
a) 23-25=28 b) 3%3.32=35
Q) 72-75=77 d) 5%.5% =56
e) 92-9*=9¢ f) 4%-45=4°
g) 63 62K+ = g2k+e hy 73.74n-3 — 74n
I) 26 . 23k—2 — 23k+4 k) 35 . 3n+2 — 3n+7
Losung A3
a) 7-5a®-a%b?- b3 =35a°b° b) 12-6x-x%y°y3 =72x3y8
c) 4-8x2%x3y3yz*z? = 32x5y*z° d) %-§a2a7b3b2 = %ang
e) 0,6x6y8z7 f)  zah’
g) 8x8ybz8 h) 816u’véw?!?
i) 66adbhltc?t k) 480a%b8c®
Losung A4

a)  (Bx%+7y*) - (4x3 —5y?) = 12x° — 15x%y? + 28y*x3 — 35y°
b) (7a® + 5a%) - (3a? — 8a®) = 21a® — 56a® + 15a°® — 40a’ = 21a® — 41a® — 40a’
c) (4a%—3b3) - (2a® + b?) =8a’ + 4a’b? — 6b3a® — 3b°
d) (2x5—-3y?): (4x? — 5y°) = 8x7 — 10x>y® — 12x2y? + 15y”
e) (Bx%y —2xy?)-(8x%y? + 5x%y) = 24x8y3 + 15x*y? — 16x7y* — 10x3y3
f)  8a®-(a?b — ab?®) = 8a®bh — 8a*h?
g) (B+7a%) - -@Ba%?-7)=9a?-21+ 21a* —49a? = —40a? — 21 + 21a*
h) (a5 — a?¥) - (a — a?) = a2k — g2K+1 — q2+1 4 g2k+42 = g2k _ gq2k+1 4 g2k+2
|) (3X3k+2 _ 4x2k+4) . (Zxk + 5X2) — 6x4k+2 + 15x3k+4 _ 8x3k+4 _ 20X2k+6
K) (1= xK) - (xK + x2K) - (1% — x3) = (xk + 22K — x2K — x3K) (x2* — x3K)
= (xk — x3K) (x2K — x3%) = 23K — x#k _ 5K 4 6k

Losung A5

a) 2% by 2 c) 3%

d) 2° e) [(-2°)P=(-2°=2°1f) 2° iy

9 2° h) 219 ()

]) 53k k) 53k |) 56k

m) 5(6k2) n) 2 (k?+k) 0) 3(10k?-3k-1)
p) a(k2+4k+4) q) a(4k2—4k+1) r) a(4k2—1)
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/(,."_; /(.."..
Losung A6
a) 2° b)
d) (=3)3=-3° e)
g) 2°=8 h)
I) 32k+1—(k+1) = 3k k)
m) 55k—1—3 — 55k—4 n)
Losung A7
a) 713 b)
1
d) F e)
9) - h)
. 1
) G K)
m) 52 n)
p) 6° Q)
s) ab? t)
v) a®" W)
Lésung A8
1 1 1
A i
d) 2—2 = Z e) 1
9 = h) 62
N om=: ky 33
—1— —k— 1
m) 52k—1-(4k+1) — §—2k-2 — s
0) q3kt5-(4k+6) — k-1 _ ak1+1
p) a3k2-(5x+2) = g-2k—4 = a211<+4
Losung A9
a) 32=9 b)
— 1
0 7%= d)
_ 1
e) 1271 = f)
-2 _ 1
g9) ST=o h)
) 26.20=27t = j)
k) al0=— 1)

Potgﬂ?ejn

LOosungen
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310
(-3)* =3

75k—(2k—1) — 73k+1
3k+5—5 — 3k

1
82
1
4
X
711
1
a—b
4
5-73
55
55
C)
f)
=36 i)
=27 )
n)
571 ==
5
12
5 _ 1
127 =15
32=9
(—4)7°
a"4 = ;

c) 5
f) 7% = 49
i) 62 = 36
|) 53k+1—(3k—1) = 52
O) 26k—6
1

C) 5—3

1
n =
. 1
|) F )
l) (3x+2y)2n
o) -=2°
N ab
u) (a+b)3
X) aZn
r_ 1
53 125
4_5
r_1
62 36
r_1
52 25
a*
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) o

L6ésung A10
a) 672= 612
d) 68
— 1
9) 57=g
. _ 1
o2 =
-1 _ l
m) 5= 5
p) a’==

S) 32k+1—(k—3) — 3k+4
U) 2k+5—(4—2k) — 23k+1

X) a—6k+10
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zu Potenzen mit gleicher Basis

b)

h)
k)

q)
t)

Y)

Pol;gﬂ?qn

Losungen
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62 = 36
62 = 36
476 = —
36
55
a9

2-3k—(4+2k) _ ©—5k—2 _
5 =5 " g5k+2

)
f)

w)

678 = —

68
( 3) 10 _ 1
310
(-2)5 = —2°
— 1
5 5= 5—5
aS
— 1
a 5= E
a2
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